I . ——_ Suwmas condecimales ____
Soluciéw

264°25 + 63891 = 90316 6239 + 29,8 = 6537 1.375°346 + 864°071 = 2.239°417
4 264°25 623°9 , 1.375'346
638°01 + o9'8 864071
903°16 6537 2.239°417

3.280°74 + 1.798°49 = 5.079°23 364'896 + 799047 = 1.1637943 3.494°2 + 8.943°58 = 12.437°78

N 3.280°74 . 3647896 N 3.494°2
1.798°49 7997047 8.943°58
5.079°23 1.163°943 12.437°78

24377 + 39°96 = 28373 8657124 + 436’676 = 1.001'800 2.584’3 + 6.73874 = 9.323°04

24377 865 124 4 2:58473
L s + 992 6.738 74
39°96 136'676 e
28373 1.001°800 -

8.649°47 + 7.314°6 = 15.964°07 34.956°45 + 37.408"1 = 72.364'55 487°873 + 209°40 = 697273

8 649747 , 34.956745 , 487'873
t 23146 37.408°1 209°40
15.964°07 72.364°55 697273

97.067°4 + 16.378°08 = 11.344°48 9.640°457 + 8.364°51 = 18.004°967 309°75 + 8718 =1.181'55

97.067 4 ;96407457 , 30975
* 16.378'08 _8.364 51 _871'8
11.344° 48 18.004°967 1.181°55
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64.319°7 + 57.642°79 + 5.974°647 = 127.937°137 9.345°004 + 5.347°64 + 7.249°'576 = 21.942°220

64.319°7 9.345°004

+ 57.642°79 + 5.347°64
5.974 647 7.249'576
127.937°137 21.942°220

87.354°97 + 5.347°9 + 12.678 7 = 105.381'57 34.614°975 + 24.643'901 + 4.310°04 = 63.568°916

87.354°97 34.614°975
+  5.347°9 + 24.643 901
12.678°7 4.310°04
105.381°57 63.568 916
64’764 +6°720+ 76 +94°761 = 1737845 64°13 + 73’543 + 9°419 + 643746 = 790552
62,;23 6413
o 73'543
94'761 9419
173'845 643 46_
790°552
571°'03+45+ 034+ 3789 =620"159 354277 +6°754 + 49.600°9 + 1’8 = 85.037°154
571°03 35.427°7
45 . 6754
T o034 49.600°9
3789 18
620" 159 85.037 154
457°064 + 6.247°6 + 9.543'754 = 16.248°418 3147 +678°314 + 307 + 734 =1.024"124
1°47
4577064 6‘;’8,31 .
+ 6.247°6 + a0
19.223,47154 -
6.248 418 1.024'124
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